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QID : 101 - In the following question, select the related word from the given alternatives.
Banana : Fruit : : Ginger : ?
frfafas e 7 few 7 faswedt & 7 gafaa w2 @0 3ET)

FAT : Aol ¢ 2 IS ¢ ?
Options:

1) Root

S

2) Fruit

T

3) Flower

BT
4) Stem
qqar

Correct Answer: Stem
i

Candidate Answer: Root
Sk

QID : 102 - In the following question, select the related letters from the given alternatives.
JPSW : LQUX :: MRFT : ?

frfafas e 7 few 7o faswedt & F gafaa et @ gFT )

JPSW : LQUX : : MRFT : ?

Options:

1) OTVG

2) OGTU

3) OSHU

4) OPQR
Correct Answer: OSHU
Candidate Answer: OSHU

QID : 103 - In the following question, select the related number from the given alternatives.

65:82::145:7?

fre=fefas o & few o fawedt § & gafua gwear & g
65:82::145:?

Options:

1) 165

2) 168

3) 169

4) 170
Correct Answer: 170
Candidate Answer: 170

QID : 104 - In the following question, select the odd word from the given alternatives.

frefofa e 7 faw o faswedt & & fawr srsz &0 g
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Options:
1) Trees
EE

2) Leaves
o
3) Flower

T
4) Stem
qAr

Correct Answer: Trees

L

Candidate Answer: Trees

s

QID : 105 - In the following question, select the odd letters from the given alternatives.
fr=fafas e 7 few o fasedt & & fawe et & 3w

Options:

1) CEF

2) LNO

3) RTU

4) GIK
Correct Answer: GIK
Candidate Answer: GIK

QID : 106 - In the following question, select the odd number pair from the given alternatives.

frefafeas e 7 faw wo fagedt & & faw g g @ g
Options:

1)49-64

2) 576 - 729

3) 441 - 484

4) 100 - 121

Correct Answer: 576 - 729

Candidate Answer: 576 - 729

QID : 107 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Waste

2. Wrong

3. Witty

4. Worcester
5. Warlike

Frerfefiae sreat T srsgaier & A a7 7 & AT (o |

1. Waste

2. Wrong

3. Witty

4. Worcester
5. Warlike

Options:
1) 51324
2) 13452
3) 51342

4) 15342
Correct Answer: 51342
Candidate Answer: 51342

QID : 108 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

A, C F HK,?

U A far 7T &, e § uw 1w £ )| G fawedt § § a7 9457 fawer g, S o aeT @t v a7 |

A, CFHK,?
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Options:
1) M

2)N
3)L

4) 0
Correct Answer: M
Candidate Answer: M

QID : 109 - In the following question, select the missing number from the given series.
1, 3, 6, 10, 15, ?

frefofaa e § faw o fasedt 5 & o 3 J1a Fifw)

1, 3, 6, 10, 15, ?

Options:

1) 20

2) 21

3) 22

4) 24
Correct Answer: 21
Candidate Answer: 21

QID : 110 - In a row of people Manu is 7th from bottom end of row. Shrey is 10 ranks above Manu. If Shrey is 8th from top end, then how many
people are there in this row?

AT #T U T AT AN & S A 7§ WM W I, A § 10 I S | AT T I & B F 8 F W W', a7 39 ied F fhaer Anr E?
Options:

1) 25

2) 26

3)24

4) 23
Correct Answer: 24
Candidate Answer: 25

QID : 111 - Seven years ago, the age of Sahil was equal to the present age of Nihal. Sum of Sahil's age 5 year ago and Nihal's age 6 years later
is 58 years. If Ruchi is 4 years elder to Sahil, then what will be Ruchi's age (in years) after 10 years?

ATT aY T8, ATfact & g (TETer diF Ta9 A & a9ET 471 5 ¥ TgeT S GTiger #0307 T9T 6 a¥ a1 &> (76T il 37 &7 907 58 a¥ & | Ffx =, arfger § 4 a7
TErE, a1 10 a¥ aF =7 $r g (@9t 7) 747 gnir?

Options:
1) 38
2) 46
3) 42

4) 36
Correct Answer: 46
Candidate Answer: 46

QID : 112 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given
word.

Representation

faw . e &, ettt fawedt 7§ & a7 wsw 3T S T T wrer & e w AN S TE- a9 ST qhdr g |
Representation

Options:

1) Paint

2) Senator

3) Trees

4) Strict

3 of 29 Thursday 07 September 2017 08:39 PM

Download More Papers From www.GovtJobsAlert.In



Staff Selection Commisioi?0Wnload More Papers From WWt‘%:g}ﬂl\égﬁla%&fétlﬁlcs_cglet1_1 7/response...

4 of 29

Correct Answer: Strict
Candidate Answer: Strict

QID : 113 - In a certain code language, "TROUPE" is written as "GILFKV" and "ERUPTION" is written as "VIFKGRLM". How is "GENIUS"

written in that code language?

ue fafarse & weT &, “TROUPE" &7 "GILFKV" fo@T ST & auT "ERUPTION* #r “VIFKGRLM" fo@T ST & | 56 &t 9197 & “GENIUS" &7 ffe &

ot STaaTT?
Options:
1) TVMRFH

2) TVMRGH
3) VIKRGH

4) TUVHRH
Correct Answer: TVMRFH
Candidate Answer: TVMRFH

QID : 114 - If "a" denotes "subtracted from", "B" denotes "multiplied by", "6" denotes "added to" and "6" denotes "divided by", then

1008B468a9="
Tf "o FT T g %’, "B" FT I R %’, Q" FT T "TIS" %'ENT 6" T T T &, AT

1008B468a9="
Options:

17

2)5

3)9

4) 11

Correct Answer: 5
Candidate Answer: 5

QID : 115 - If 92 A 42 B 32 = 56 and 72 A 22 B 12 = 44, then
112A52B72="?
T 92 A42B32=56TuT 72 A22B 12 = 44 &1, ar

112A52B 72 =?
Options:

1) 29

2) 32

3) 47

4)24

Correct Answer: 47
Candidate Answer: [ NOT ANSWERED ]

QID : 116 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Rrafafla vy # Bo 7w Reeut & ¥ vy Reg
(?) & TUE W A arell F&AT H FaT|

1 7 6 56
1 4 8 45
2 3 6 ?

Options:
1) 32

2) 35
3) 46

4) 47
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Correct Answer: 47
Candidate Answer: [ NOT ANSWERED ]

QID : 117 -

How many quadrilaterals are there in the given

figure?

& T el # forer I &2

Options:
1)3

2)4
3)7

1) 6
Correct Answer: 7
Candidate Answer: [ NOT ANSWERED ]

QID : 118 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to
be true even if they seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion

logically follows the given statements.
Statements:

1. Some girls are clever.
II. All clever are hardworking.

Conclusions:
I. Some girls are not hardworking.

II. Some girls are hardworking.
III. Some hardworking are not girls.

T faw T e T & $ I 3T IE 18 I FAAT I AT G, (TS {70 T E, TR 396 AT T aAt & Kt &7 g6dr | i T 99 @i

o fraifia ¢ o o o &t & frsed o 710 el & e o giaaea

YT

L. 3 AsfEat TTonE § |
I1. TiT STerTe HEear & |

st

. 7, ersteat St T
11. F, ASfHAt Agar £

111. F Hedr Asfadr Tar & |

Options:

1) Only conclusion (I) and (II) follow.

Faer frea (1) e frsa (1) =& &

2) Only conclusion (II) follows.

et frsa (1) 78T &)

3) Only conclusion (I) and (III) follow.

et (A (1) qur s (110) =€ &)

4) All conclusions follow.

T st a8 E

Correct Answer: Only conclusion (II) follows.

Faer frsay (1) 78T &

Candidate Answer: Only conclusion (I) and (II) follow.

Faer s (1) aT e (I1) =80 &1
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QID : 119 -

From the given options, which answer figure can be
formed by folding the figure given in the question?

rafafa fwedl & @ ®la @ 35 3l uy
# & oS A P AzHT TS T Tt B2

*
%
# $
>
I
Options:
1)
*
s |$
2)
*
# I
3)
%
s ||
4)
%
> $
Correct Answer:
*
s |$
Candidate Answer
*
s |$
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QID : 120 -
In the given figure, how many bottles are not brown?

& 7% gl #, fraeh aae ol af €2

Brown / 1

3524~ 18

Bottles /
11 42 (13 )26 31 l¢—
( arger
10117 27
Plastic / coTieesh
Options:
1) 58
2) 62
3) 102
4) 106

Correct Answer: 58
Candidate Answer: 58

QID: 121 -
Which answer figure will complete the pattern in the
question figure?

Flg @ 3R FPA U JPla & uldww & @
HLa?

A

S

aalaa

Options:
1)

AA

2)

AA

3)

AA

4)

> >
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Correct Answer:

AA

Candidate Answer:

AA

QID : 122 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 3R apfadl # ¥ 3@ IR I A AT
o & uy 3l BT &

A

Options:
1)

2)

3)

4)

O 1Y 1 [

Correct Answer:

®

Candidate Answer:

®
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QID : 123 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

T & uw agfaal # REm 3geErR sner &
A Dedd JUT Wield & aIg dg fhd 3R ATHia
s femr$ gem?

NIEIR

Options:
1)

N

3)

COl |Co) D

Correct Answer:

Candidate Answer:
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QID : 124 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg 1 gUUT F AB ¥ WX @1 AW, ar & 8
I Fgaal # ¥ Fla W FEla uH HEA Hr
e ufafesa aefr?

>

ug

Options:
1)

&

2)

5

3)

5,

4)

S

Correct Answer:

&

Candidate Answer:

&
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QID : 125 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘E’ can
be represented by 21, 44, etc., and ‘T’ can be represented by 65, 87, etc
Similarly, you have to identify the set for the word “FATE".

TF Aeq hae UH FEAT-HAE aNT GoMr @ R, Sar B et A @
el T & @ mar ¥ et # Ru aw FEraas IRt & or gt
gRT gafw v §, sk 6 QU v Y eyt # ¥ nePp & wEd 3R
Gfes & FEaT 0 | 4 R 3R g H 53 91 3T IYH F TH FaAR W
Ugel 3EH Ufth AR A # TN T gRT GA™AT S WHhAT §1 3G
& fAu B A 21, 44, 30T qrr g S wdwar & AT ‘T @ 65, 87,
I GRT g S Fhar ¥ 3 ave | TS uA A U g “FATE
& fov maE A ugaEEn {)

Matrix- Matrix-Il
-l gl
0(1[2|3]4 5/6|7|8[9
O|A|U[O|E| 5|B|F|K[N|T
1|E|[I]|A|U|O 6| T|B|F|[K|N
2|0|E|I|A|U 7IN|T|B|F|K
3(U|O[E|I|A 8|K|N|T|(B|F
4|1 |A|U|O|E 9|F|K|N|[T|B

Options:
1) 56, 00, 87, 11

2) 96, 41, 59, 44
3) 88, 12, 76, 33

4) 78, 34, 98, 21
Correct Answer: 78, 34, 98, 21
Candidate Answer: 78, 34, 98, 21

QID : 126 - After which five year plan, 'The Rolling Plan' was implemented?

e T=aTT FISET & AF AT AT (AT ) & AR fEET T ar?
Options:

1) Third Plan

T I

2) Fifth Plan

T I

3) Seventh Plan

TITET FIST

4) Ninth Plan

T T

Correct Answer: Fifth Plan
TrEET AT

Candidate Answer: Third Plan
e AT

QID : 127 - Which tax causes a burden on the poorer section of the society?

FIST T FY GHEIT & T IUT F GHLET I I 4T 52
Options:

1) Direct Tax

T fiT

2) Indirect Tax

AT HT

3) Both Direct and Indirect Tax

4) None of these

it & A

Correct Answer: Indirect Tax

T FT

Candidate Answer: [ NOT ANSWERED ]
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QID : 128 - Which article was referred to as the 'the heart and soul' of the constitution by Dr. B. R. Ambedkar?

ST, 7. Y. SEESH G (60 ST =8% &7 §Ia9T &7 ‘529 T AT J=fie fFar mr 872
Options:

1) Article 4

F=us 4

2) Article 32

F=gg 32

3) Article 28

w=as 28

4) Article 30

I3 30

Correct Answer: Article 32
FT=ax 32

Candidate Answer: Article 32

F=as 32
QID : 129 - Which of the following provision needs a special majority in Parliament?

frfefas & & @it & Traae & AT 569 7 {0y ag9a @ Aavadar wsar 87
Options:

1) Change in Fundamental Rights

At stfaert & afigaT

2) Creation of New States

T AT ST

3) Abolition of Legislative Councils in State

T H faa wig & Ie

4) Rules and Procedures in Parliament

o7 7 fa 7 et

Correct Answer: Change in Fundamental Rights
Hifee stfaert & afaaT

Candidate Answer: Creation of New States

T TSI ST

QID : 130 - Which act ended the "Trade Monopoly" of the East India Company?

forer srfufeae T $e Sfear 99 & s uarfaar” &1 99T &2 fear °r?
Options:

1) Regulating Act of 1773

1773 & fafam stfafrer

2) Pitt's India Act of 1784

1784 = fyew gfsar stfufrae

3) The Charter Act of 1833

1833 &r 91ev srfufraT

4) The Charter Act of 1813

1813 &r 91ev srfufraeT

Correct Answer: The Charter Act of 1813
1813 &r J1e7 rfafraT

Candidate Answer: [ NOT ANSWERED ]

QID : 131 -
Match the following.

ArafafEa o1 B Aifam

Battles / g Year/ a§

1. Battle of Buxar a. 1576
TFE & g

2. Battle of Plassey b. 1764
CATHT T =

3. Battle of Haldighati o T ¢

TeUE & g
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Options:
1) 1-c, 2-b, 3-a

2) 1-b, 2-c, 3-a
3) 1-b, 2-a, 3-c

4) 1-c, 2-a, 3-b
Correct Answer: 1-b, 2-c, 3-a
Candidate Answer: 1-c, 2-b, 3-a

QID : 132 - Which of the following state receives rainfall due to western disturbances?

frefafae & & fe o= 7 gfe=wi faams (@ femed=) & ®Iwr avt 8er 27?
Options:

1) Punjab

EEICH

2) West Bengal

wfy=e FaTer

3) Kerala

FA

4) Gujarat

T

Correct Answer: Punjab

EEIcs

Candidate Answer: [ NOT ANSWERED ]

QID : 133 - Why does Western Ghats and Eastern Ghats both receive sufficient rainfall but Deccan Plateau receives scanty rainfall?

ST T TET ITET F AT a9 &R & Saiw SF T & TS H agd & a7 AT 8 | SHET 3T H 572
Options:
1) It is a rain shadow area

T% U g AT ST

2) It is located parallel to wind direction

g qg & e & aiae fera &

3) It is away from the coast

A G 7 F 7 fera &

4) Rain bearing clouds are absent

YT gTer ATt A

Correct Answer: It is a rain shadow area
7 UF g graT A ¥

Candidate Answer: It is a rain shadow area

TE UF I FrAT A E

QID : 134 - In which of the following part of the cell does the pyruvic acid is broken down into carbon dioxide, water and energy?

fFrerfetfiae & & foe iforer 3T & TTEefas o ceay FET STESFEIss, W 9T Sl & IRafad & wrar 87?2
Options:
1) Cytoplasm

2) Nucleus
FTE
3) Mitochondria

4)\Chloroplast

HiGssEED

Correct Answer: Mitochondria
EGREIREDY

Candidate Answer: Mitochondria

QID : 135 - What is plant cell wall mainly composed of?

9T FTferRr (i g e = e 2
Options:

1) Lipids

fafre

2) Vitamin

faerfa

3) Cellulose

Fe AT

4) Protein

TER

Correct Answer: Lipids

fafre
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Candidate Answer: Cellulose

AT
QID : 136 - What is the SI unit of Power?

FAT T UH HE ATE FT 8?
Options:

1) Boyle

Elecy

2) Watt

Fie

3) Newton

T

4) Pascal

qrEhet

Correct Answer: Watt
gie

Candidate Answer: Watt
qie

QID : 137 - Which one of the following is not a type of coal?

freafafae & & S 97 U e #7 T T60 872
Options:

1) Anthracite

AT

2) Lignite

fermse

3) Peat

e

4) Siderite

AT -3eaT

Correct Answer: Siderite
ATE-FoaT

Candidate Answer: Siderite

AT -3eaT
QID : 138 - Which of the following pair is INCORRECT?

I. Parsec - Distance
II. Barrel - Liquid
III. Light year - Time

fre=fefae & & 19 97 g7 Te T 82

L 9vEs - g

IL. 39T - qveT

I11. T7&T9r Y - JAT
Options:

1) Only III

Faer 111

2) Only I and III

et 1awr 111

3) Only II

Faer 11

4) All are correct

i W E

Correct Answer: Only III
Faer 111

Candidate Answer: Only I and IIT
Faer [ aur 111

QID : 139 - What is the name of the first Super Computer of the world?

fava & T I FFET FT FT AT B2
Options:

1) CDC 6600

gr.3r.4T. 6600

2) USENET

I,

3) COMODOR VIC/20
T30 AT ST AT, /20
4) PARAM-10000

... T.0H.-10000
Correct Answer: CDC 6600
r.3r.8T. 6600

Candidate Answer: [ NOT ANSWERED ]
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QID : 140 - Fog, clouds, mist are examples of

FIELT, T, FRTAT F IR A
Options:
1) Aerosol

wwEre

2) Solid sol
ST et

3) Foam
T

4) Gel

Er

Correct Answer: Aerosol

wEre

Candidate Answer: [ NOT ANSWERED ]

QID : 141 - Which of the following is a chemical formula of quicklime?

Frefefae & & smgsr I &1 TEmEtE g 74T 82
Options:
1) Ca,0

2) Cach3
3) Ca0,

4) CaO
Correct Answer: CaO
Candidate Answer: Ca;CO3

QID : 142 - Who was the pioneer of Chipko movement of 19737

Y 1973 & fH9ar =1 & SREHT JqT S 472
Options:

1) Sambaji

TSI

2) Baba Amte

AT AHE

3) Sunderlal Bahuguna

4) Medha Patkar

YT et

Correct Answer: Sunderlal Bahuguna
HETAT g

Candidate Answer: Sunderlal Bahuguna

QID : 143 - 'Pradhan Mantri Digital Saksharta Abhiyan' is launched to digitally literate 6 crore rural households by .

AT fsfSee arerar faa= 6 S IHIT IRanT & ad (SfSedl Qe @ & (od AT R
Options:

1) March, 2019

AT, 2019

2) March, 2020

AT, 2020

3) April, 2021

e, 2021

4) March, 2022

AT, 2022

Correct Answer: March, 2019
AT, 2019

Candidate Answer: [ NOT ANSWERED ]

QID : 144 - Edward Jenner discovered vaccine for which of the following disease?

U9 S 7 frfefad & & e e & foe S @i | dr o
Options:

1) Polio

wrfeEr

2) Tuberculosis

& T

3) Small Pox

EEED

4) Rabies

e
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Correct Answer: Small Pox

EEED

Candidate Answer: Small Pox

EEED

QID : 145 - In 2017 Australian Open, Serena Williams defeated her sister Venus Williams to win the Grand Slam Singles title of her
career.

¥ 2017 F AT 29T &, GYAT fafeaT T =941 a5 = fafeaes fir 50aT 19 Sira=T &0 et TS & faara ST &1
Options:

1) 23rd

23 at

2) 18th

18 af

3) 26th

26 at

4) 20th

20 at

Correct Answer: 237

234t

Candidate Answer: [ NOT ANSWERED ]

QID : 146 - Which Indian state hosted the 3 days long 'International Yoga Fest' held from 8th to 10th March, 2017?

e TRET = T 8 T 10 AT, 2017 & & [Eaiar 'SIaeTsedd 0T Hetedd’ S Joa=T S 91?2
Options:

1) Uttar Pradesh

IAT &I

2) Madhya Pradesh

o e

3) Maharashtra

HERTSET

4) Delhi

faestr

Correct Answer: Delhi

faeetr
Candidate Answer: [ NOT ANSWERED ]

QID : 147 - Who was awarded with the Filmfare Lifetime Achievement Award for the year 20177

Y 2017 F fReThaT ATSheTsH USaHe RN & e aerie f&ar @ 27?2
Options:

1) Yash Chopra

BRI IEE

2) Kamini Kaushal

AT Frorer

3) Shatrughan Sinha

SraeeT A=t

4) Moushumi Chatterjee

HIEET Festt

Correct Answer: Shatrughan Sinha
SraEeT faeaT

Candidate Answer: [ NOT ANSWERED ]

QID : 148 - Who is the author of “The Windfall’?

fr faswier & s /afasr @i 272
Options:

1) Manmohan Singh

AR fEE

2) Amitav Ghosh

St =T

3) Diksha Basu

ST 7

4) Arundhati Roy

Correct Answer: Diksha Basu
reT T

Candidate Answer: Amitav Ghosh

srfare 9Ty

QID : 149 - Which country will host the 9th BRICS Summit in the year 2017?

Y 2017 F 9 ¥ faveq aw i fi ATaWT S |7 9 FAM?
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Options:
1) Brazil
TS
2) Russia
=

3) India
HTT

4) China
E1ss

Correct Answer: China

L1

Candidate Answer: China
k1

QID : 150 - With which country has India signed an agreement for assistance in green and sustainable construction of infrastructure in the
Himalayan Kingdom in December, 2016?

R T fer Tor & A feereme aRereT & g T ST S =T AT U et I feaeEy 2016 F gedra 6

Options:

1) Nepal

BRI

2) Afghanistan

AT

3) Bhutan

kS
4) Pakistan

Correct Answer: Bhutan
Bracy

Candidate Answer: Nepal
T

QID : 151 - For what value of X, 211X will be a perfect square?

X & fe 71 & fAw 211X us qur a7 g0m?
Options:
14

2)5
3)6

4)9
Correct Answer: 6
Candidate Answer: 6

QID : 152 - 2 men or 3 women can complete a job in 96 days. Then 6 men and 7 women will complete the same job in how many days?

2 TFY 3¥ET 3 AfgeTd U &4 & 96 &A1 7 T &% qad & | a6 6 T5Y quT 7 Afgerd 36T & ¥ fdaw &=t 7 wr #5977
Options:

1) 18

2) 27

3) 20

4) 24

Correct Answer: 18
Candidate Answer: 18

QID : 153 - If the radius of the cylinder is decreased by 20%, then by how much percent the height must be increased, so that the volume of
the cylinder remains same?

afs I ¥ [T 7 20% T ST A7 AT E, a7 IqhT 18 H e wfaer @ g3fa s SifEw arfE 39 a srmdT g9 @
Options:

1) 20

2) 36.25

3) 56.25

4) 65
Correct Answer: 56.25
Candidate Answer: [ NOT ANSWERED ]

QID : 154 - The marked price of an article is 40% more than its cost price. If 15% discount is given on the marked price, then what will be the
profit percentage?

UF TE & A (RT ToT IqG 7T ToF T 40% AT &7 | T 2w 907 T 15% Fi G &7 AT &, AT A0 T fdaer aem?
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Options:

1) 25

2) 15

3)21

4) 19

Correct Answer: 19
Candidate Answer: 19

QID : 155 - Three partners A, B and C share profit such that three times the share of A is equal to two times the share of B and equal to 12
times the share of C. What is the ratio of the profits of A, B and C respectively?

T HTIHE A, B TUT C &N &7 56 T died & & A F f5ed &7 9 747, B & f5eq &7 Snpar & auT C & {556 &7 a8 A7 &7 8 | §799: A, B 9T C & 0T &7
AT FAT B?

Options:

1)3:2:12

2)12:2:3

3)4:6:1

4)1:6:4

Correct Answer: 4 :6: 1

Candidate Answer: 4 : 6: 1

QID : 156 - The average of 8 consecutive natural numbers is 38.5. What is the largest of these 8 numbers?

8 HYATIT TIGH( e SAT3I T A 38.5 & | § 8 HEATSAT H & Ta9 I$7 AT HlT & &7
Options:

1) 41

2) 39

3) 42

4) 45

Correct Answer: 42

Candidate Answer: 42

QID : 157 - If the cost price of 48 articles is equal to the selling price of 32 articles, then what is the profit percentage?

afT 48 FEgeI &1 7T oF 32 TGN & (A&7 o7 & a7 7, G AT Taerd fhaer 872
Options:

1) 20

2) 25

3) 50

4) 75

Correct Answer: 50
Candidate Answer: 50

QID : 158 - After deducting 12% from a certain sum and then deducting 25% from the remainder, 2508 is left, then what is the initial sum?

foet HeeaT & 12% i FEMAT FF & I T9T T4 58 HBAT 7 25% HT FErAT F0F 7 2508 I I AT 7, AT TR0H ST 77 82
Options:

1) 3500

2) 3450

3) 3970

4) 3800

Correct Answer: 3800
Candidate Answer: [ NOT ANSWERED ]

QID : 159 - Two trains are moving in the opposite direction at speed of 30 km/hr and 45 km/hr respectively, whose lengths are 450 m and 550
m respectively. What is the time taken (in seconds) by slower train to cross the faster train?

& verTrteat dvasr: 30 AT, i sier aur 45 .47, @i ser #i afq & faaie fowm &§ sor w@r § e dwars s 450 @2 qur 550 HeT 7 | S i arer
YEATITST T i 1T TTTST il I S 7 e 897 (Ths &) @ir?

Options:

1) 48

2) 54

3) 62

4) 72

Correct Answer: 48
Candidate Answer: 48

QID : 160 - A person lent certain sum of money at 10% per annum simple interest. In 20 years the interest amounted to Rs 500 more than the
sum lent. What was the sum lent (in Rs)?

e St T e afsr #ir 10% #r arf¥s @@ F ATamor sam 9 39 3qT & | 20 a9F 7 ST sam dF 79, I9 &7 7 i § 500 F. A &7 qer | 39
& 7 T (% F) =4 e
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Options:
1) 200
2) 500
3) 1000
4) 250

Correct Answer: 500
Candidate Answer: 500

QID : 161 -Ifa = 73, b = 74 and ¢ = 75, then what is the value of a3 + b3 + ¢c3 - 3abc?

afva=73,b=749Tc =75,dr a3 + b3 + ¢ - 3abc & AW FAT &E?
Options:

1) 365

2) 444

3) 666

4) 999

Correct Answer: 666

Candidate Answer: 666

QID : 162 - If x2 + (1/x2) = 31/9 and x > 0, then what is the value of x3 + (1/x3)?

FfE x2 + (1/x2) = 31/9 9T x > 0, ar x3 + (1/x3) &7 A F4T ZET?
Options:

1) 70/9

2) 154/27

3) 349/27

4) 349/7

Correct Answer: 154/27

Candidate Answer: 154/27

QID : 163 -

, (x*-5x+6) (x*-7x+12)
What is the value of < ?
(x*-3x+2) (x*-5x+4)

(x*-5x+6) (x*-7x+12) SRS
(x2—3x+2)7 (x* -5x+4) \

Options:
1)1

2)2
3) x-2)/(x-1)

4) (x+ 3)/(x+ 1)
Correct Answer: 1
Candidate Answer: 1

QID : 164 - If x - (1/x) = 3, then what is the value of (2x* + 3x3 + 13x2 - 3x + 2) / (3x% + 3)?

afe x - (1/x) = 3, ar (2x* + 3x3 + 13x2 - 3x + 2) / (3x* + 3) & 7 FT EO?
Options:

1)1/3

2) 2/3

3) 4/3

4) 5/3

Correct Answer: 4/3
Candidate Answer: [ NOT ANSWERED ]

19 of 29 Thursday 07 September 2017 08:39 PM

Download More Papers From www.GovtJobsAlert.In



QID : 165 -
In the given figure STIRP, then what is the value (in
degrees) of supplementary angle of y?

& o€ 3P F STIRP, At y& TR HIUT & AT

(fahr ) T &2
A
o\
2X \\
/
/3x° }
/\) y/° 4X ﬁ\
Q S R

Options:
1) 10
2) 60
3) 100
4) 170

Correct Answer: 100
Candidate Answer: 100

QID : 166 -
In the given figure, TB passes through centre O.
What is the radius of the circle?

e wpA A, TB FF O A RN &1 7 A
=TT Fam &2

Options:
1) (2V5)/3

2) (3v2)/5
3) (3V5)/2

4) (2V3)/5
Correct Answer: (3V5)/2
Candidate Answer: [ NOT ANSWERED ]

Staff Selection Commisioi?0Wnload More Papers From WW%:@&\@HI%‘%%?&étIﬁ/cs_cglet1_1 7/response...

QID : 167 - APQR has sides PQ and PR measuring 983 and 893 units respectively. How many such triangles are possible with all integral sides?

APQR &7 ¥[<T PQ @47 PR T ATT FH7H91: 983 TT 893 F&Ts & | FT I TSar y[ITeit & &1 U faha fns sva 87

Options:

1) 1876

2) 90

3) 1785

4) 1786

Correct Answer: 1785

Candidate Answer: [ NOT ANSWERED ]
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QID : 168 -
In the given figure, PQR is a triangle in which, PQ =24
cm, PR = 12 cm and altitude PS = 8 cm. If PT is the
diameter of the circum=ircle, then what is the length (in
cm) of circum-radius?

& 7 ey # PQR me = ¥ fowd PQ = 24
M., PR =12 A3 qur Mdeda PS = 8 T &
IfE PT amg g9 & =@ & ot ar B fr aears

@, ) Far e
P
/’// >’“Iﬁ\<\}\
y Ve / \Q
|/ / ,‘ __u—-"—‘\‘ R
71 8 |
Q [ /
\-\ |} /
X o y
S O
A
Options:
1) 15
2)18
3) 20
4) 21

Correct Answer: 18
Candidate Answer: [ NOT ANSWERED ]

QID : 169 - What is the simplified value of sec® A - tan® A - 3 sec? A tan? A?
secb A - tan® A - 3 sec? A tan? A FT d¥EHT A FT &2

Options:

1) -1

2)0

3)1

4) sec Atan A
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - What is the simplified value of (cosec A - sin A)(sec A - cos A)(tan A + cot A)?
(cosec A - sin A)(sec A - cos A)(tan A + cot A) & GTIGd A F4T 2?

Options:

1) -1

2)0

3)1

1) 2
Correct Answer: 1
Candidate Answer: 1

QID : 171 - What is the simplified value of (cos* A - sin* A)?

(cos* A - sin? A) #T TR I F4T 27
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Options:
10

2) 2 cos? A
3) cos 2A

4)1
Correct Answer: cos 2A
Candidate Answer: cos 2A

QID : 172 -

The pie chart given below shows the runs scored by
a player against 6 different countries. The total runs
scored by the player against these countries are

1600.

dr Ro om g9 R A e Ryamdr & 1 6
faftea Rt & g g 7w @ B g T
¥ R & R = Rt & fawg g@mw aw o

7 1600 £l

New Zealand/

s

16%

Pakistan/

rfehEaTe
12%

SriLanka/
SroTeRT
9%

South Africa/

feyoT arhresT
17%

England/

golvs

21%
Australia/
JrEforT

25%

How many runs has the player scored against Pakistan?

ferer T arfwea & faeg, feae o T §7

Options:

1) 272

2) 192

3) 256

4) 144

Correct Answer: 192
Candidate Answer: 192
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QID : 173 -

The pie chart given below shows the runs scored by
a player against 6 different countries. The total runs
scored by the player against these countries are

1600.

dr Rr o g9 R & v RSt & =Ry 6
afdea M & g gam o & Fr AT TR
t e & R 3 RN F Owg @ aw o

T 1600 £l

New Zealand/

s

16%

Pakistan/

arfehEaTe
12%

SriLanka/
SroTeRT
9%

South Africa/
ZT&oT 3T
17%

England/

golvs

21%
Australia/
Areeforar

25%

The difference between the runs scored against England and Pakistan is same as the difference between which of the following two countries?

TS FUT TR & faeg a1 T & & 91 &7 o frfafa & & fa & 3w & foeg a9 7 & & i & 60 § 997 27

Options:

1) South Africa and Sri Lanka

2) South Africa and New Zealand

3) Australia and Sri Lanka

4) Australia and New Zealand

Correct Answer: Australia and New Zealand

SRR IR I

Candidate Answer: Australia and New Zealand
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QID: 174 -
The pie chart given below shows the runs scored by

a player against 6

different countries. The total runs

scored by the player against these countries are

1600.

o Ro o g9 R # e Ry & 6
afdea M & g gam o & Fr AT TR
t e & R 3 RN F Owg @ aw o

T 1600 £l

New Zealand/

s

16%

Pakistan/

arfehEdre
12%

SriLanka/
HroTepr
9%

South Africa/
ZT&oT 3T
17%

England/

golvs

21%
Australia/
Areeforar

25%

What is the difference in runs scored by the player against Australia and Sri Lanka?

TSt ZIT ey ot TuT IIeT & faeg a9 T = & i R T 82
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2) 128

3) 114

4) 80

Correct Answer: 256
Candidate Answer: 256
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QID: 175 -
The pie chart given below shows the runs scored by
a player against 6 different countries. The total runs
scored by the player against these countries are
1600.

o Ro o g9 R # e Ry & 6
afdea M & g gam o & Fr AT TR
% ReS & R 3 R & e gamw aw g

T 1600 EI
HeNcsand) South Africa/
= ZfaroT anfreT
0,
16% 17%
Pakistan/
arfehEaTe
12% England /
v
SriLanka/ 21%
ot
9% Australia/
Areeforar
25%

Difference between the total runs scored against Australia and New Zealand and the total runs scored against Sri Lanka and Pakistan make
what sectorial angle (in degrees) in the pie chart?

S AT TIT =[S & (aeg T T HeT 1 T TEICART AT TRed = & (g a0 0§ F1 & G199 & a7 &7 g9 ([49aq¥ ¥ ffa=r goavs @ (e 1)
T E?

Options:

1) 90

2) 144
3) 36

4) 72
Correct Answer: 72
Candidate Answer: 72

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select
the appropriate option. If a sentence is free from error, select 'No Error'.

The CEO only discussed (1)/ the new venture (2)/ with his manager. (3)/ No Error (4)
Options:

11

2)2

3)3

4) 4

Correct Answer: 1

Candidate Answer: 1

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select
the appropriate option. If a sentence is free from error, select 'No Error'.

If she was marrying Mr. Gupta (1)/ she would have been (2)/ recognized as Mrs. Gupta. (3)/ No Error (4)
Options:

11

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 1
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QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out
of the four and indicate it by selecting the appropriate option.

Ankita is disgusted the habit of her brother.
Options:

1) at

2) on

3) of

4) with

Correct Answer: at

Candidate Answer: with

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out
of the four and indicate it by selecting the appropriate option.

Due to the security reasons we were _____ from entering into the cockpit of the plane.
Options:

1) denied

2) rejected

3) stopped

4) warned

Correct Answer: stopped
Candidate Answer: stopped

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Exorbitant

Options:

1) Clear

2) Dull

3) High

4) Rare

Correct Answer: High
Candidate Answer: Rare

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Jeopardy

Options:

1) Angry

2) Injure

3) Risk

4) Serene

Correct Answer: Risk
Candidate Answer: Risk

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Churlish
Options:

1) Belittle

2) Courteous
3) Fervent
4) Uncouth

Correct Answer: Courteous
Candidate Answer: Fervent

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Phlegmatic

Options:

1) Ardent

2) Indifferent

3) Prohibit

4) Merciless

Correct Answer: Ardent

Candidate Answer: Ardent

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Damp squib
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Options:

1) Complete failure

2) Complete knowledge
3) To motivate

4) To squander money

Correct Answer: Complete failure
Candidate Answer: Complete failure

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Rise like a phoenix

Options:

1) Something memorable

2) Time to answer for one's action
3) To become successful again

4) To make people happy

Correct Answer: To become successful again
Candidate Answer: To become successful again

QID : 186 - Improve the bracketed part of the sentence.

The mobile phones have made digital cameras a little (superfluous) in today's world.
Options:

1) extinct

2) obsolete

3) redundant

4) No improvement

Correct Answer: obsolete
Candidate Answer: obsolete

QID : 187 - Improve the bracketed part of the sentence.

If (you will approach) her sincerely, she will listen to your problem definitely.
Options:

1) you approach

2) you are approaching

3) you will be approaching

4) No improvement

Correct Answer: you approach
Candidate Answer: you approach

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

That which is away from centre
Options:

1) Eccentric

2) Eclectic

3) Ellipsis

4) Equine

Correct Answer: Eccentric
Candidate Answer: Eccentric

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

One who values practicality
Options:

1) Apotheosis

2) Pliable

3) Pragmatist

4) Realist

Correct Answer: Pragmatist
Candidate Answer: Pragmatist

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Pedestrain

2) Plaintiff

3) Potatoes

4) Potassium

Correct Answer: Pedestrain
Candidate Answer: Potassium

QID : 191 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
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Options:

1) Fabulous

2) Gorgeous

3) Heterogeneous
4) Inocuous

Correct Answer: Inocuous
Candidate Answer: Inocuous

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the
sentences to form a coherent paragraph.

P- A sensitive mind easily absorbs the vibrations emanating from the thought of the people it associates with.
Q- We often say that a person is known by the company he keeps.

R- The violent can be made calm by exuding thought of love and compassion.

S- Visits to holy places are considered good because the good thoughts of the holy people gathered there and the ensuing vibrations definitely
affect one in a positive fashion.

Options:

1) RQPS

2) QRSP

3) PQRS

4) SRQP

Correct Answer: RQPS

Candidate Answer: RQPS

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the
sentences to form a coherent paragraph.

P- Epistemological idealists (such as Kant) might insist that the only things which can be directly known for certain are ideas.

Q- The approach to idealism by Western philosophers has been different to that of Eastern thinkers.

R- In much of Western thought (though not in such major Western thinkers as Plato and Hegel) the ideal relates to direct knowledge of
subjective mental ideas, or images.

S- It is then usually juxtaposed with realism in which the real is said to have absolute existence prior to and independent of our knowledge.
Options:

1) RQPS

2) PQSR

3) PRQS

4) QRSP

Correct Answer: QRSP

Candidate Answer: [ NOT ANSWERED ]

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one
which best expresses the same sentence in Passive/Active voice.

Karnataka grows coffee

Options:

1) Coffee is being grown in Karnataka.

2) Coffee grown in Karnataka.

3) Coffee is grown in Karnataka.

4) Let the coffee be grown in Karnataka.
Correct Answer: Coffee is grown in Karnataka.

Candidate Answer: Coffee is grown in Karnataka.

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the
one which best expresses the same sentence in Indirect/Direct speech.

Gopal's mother reminded him to take his wallet.

Options:

1) “Are you going to take your wallet or not?” said Gopal to his mother.

2) “Don't forget to take your wallet, Gopal” said his mother.

3) Gopal's mother said, “Remember your wallet, Gopal?

4) “Here is your wallet Gopal” said his mother.

Correct Answer: “Don't forget to take your wallet, Gopal” said his mother.
Candidate Answer: “Don't forget to take your wallet, Gopal” said his mother.

QID : 196 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out
of the four and indicate it by selecting the appropriate option.

Organization are institutions in which members compete for status and . They for the resources of the organization, for example,
to expand their own departments, for advancement and for power to the activities of others.

Organization are institutions in which members compete for status and
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Options:
1) growth
2) money
3) power
4) success

Correct Answer: power
Candidate Answer: power

QID : 197 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out
of the four and indicate it by selecting the appropriate option.

Organization are institutions in which members compete for status and . They for the resources of the organization, for example,
to expand their own departments, for advancement and for power to the activities of others.

They for the resources
Options:

1) compete

2) expand

3) rely

4) run

Correct Answer: compete
Candidate Answer: compete

QID : 198 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out
of the four and indicate it by selecting the appropriate option.

Organization are institutions in which members compete for status and . They for the resources of the organization, for example,
to expand their own departments, for advancement and for power to the activities of others.

of the organization, for example, to expand

Options:

1) finance

2) infrastructure
3) resources
4) source

Correct Answer: finance
Candidate Answer: finance

QID : 199 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out
of the four and indicate it by selecting the appropriate option.

Organization are institutions in which members compete for status and . They for the resources of the organization, for example,
to expand their own departments, for advancement and for power to the activities of others.

their own departments, for _ advancement and

Options:

1) career

2) financial

3) regional

4) technological
Correct Answer: career

Candidate Answer: technological

QID : 200 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out
of the four and indicate it by selecting the appropriate option.

Organization are institutions in which members compete for status and . They for the resources of the organization, for example,
to expand their own departments, for advancement and for power to the activities of others.
for power to the activities of others.
Options:
1) affect
2) control
3) curb
4) pursue
Correct Answer: control
Candidate Answer: pursue
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